

Multiplikation:

$$\frac{1}{2} * \frac{1}{2} = \frac{1}{4}$$

$$\frac{1}{2} * \frac{1}{3} = \frac{1}{6}$$

$$\frac{1}{3} * \frac{1}{4} = \frac{1}{12}$$

$$\frac{1}{4} * \frac{1}{2} = \frac{1}{8}$$

$$\frac{2}{3} * \frac{3}{4} = \frac{1}{1} * \frac{1}{2} = \frac{1}{2}$$

$$\frac{4}{5} * \frac{10}{8} = \frac{1}{1} * \frac{2}{2} = \frac{1}{1} * \frac{1}{1} = \frac{1}{1} = 1$$

$$\frac{2}{5} * \frac{2}{5} = \frac{4}{25}$$

$$\frac{8}{6} * \frac{9}{24} = \frac{1}{2} * \frac{3}{3} = \frac{1}{2} * \frac{1}{1} = \frac{1}{2}$$

$$\frac{18}{27} * \frac{9}{24} = \frac{2}{3} * \frac{3}{8} = \frac{1}{1} * \frac{1}{4} = \frac{1}{4}$$

$$\frac{31}{12} * \frac{60}{93} = \frac{1}{1} * \frac{5}{3} = \frac{5}{3} = 1\frac{2}{3}$$

$$\frac{5}{21} * \frac{56}{20} = \frac{1}{21} * \frac{56}{4} = \frac{1}{21} * \frac{14}{1} = \frac{1}{3} * \frac{2}{1} = \frac{2}{3}$$

$$\frac{37}{12} * \frac{144}{74} = \frac{1}{1} * \frac{12}{2} = \frac{1}{1} * \frac{6}{1} = \frac{6}{1} = 6$$